= o
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A EAA
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Sl BACE NHIA B4 CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
224 3,746,420 4,313,767 AB67,347
=2 11,211
Xl 14,000
J| 1,166,690
< 440,713
Al 2,113,806
Pl = 3,512,098 4,096,316 A 584,218
= 11,211
Xl 14,000
J| 1,090,676
< 428,310
Al 1,967,901
2492 NMHIA & 592,183 1,253,985 A 661,802
J| 200,000
< 10,780
Al 381,403
224 2g z2tel 176,078 312,381 A 136,303
101 @124l 30,299 27,712 2,587
04 JIZHHNZ2Z2XNSE+ 30,299 27,712 2,587
OFAr2el 22X E= 30,299
=lleg 48,240 * 2% * 230 22,191
oFFH 48,240% * 2% = 49 4,728
o 2HAlH| 3,000 * 2% * 230 1,380
o dEF I 500,000& = 2H =« 23| 2,000
201 £B-2%| 100,035 92,925 7,110
01 At 22l 6,965 5,365 1,600
OgsE 235 d 30,000& = 1204 = 13/ 360
OUSO0ISANE HUBIIE SEE 550
OAIR210] Xtz 300,000& = 12& 3,600
OZe|SAL2 AL U= 1,600
OgzILL(UsSEA 28)
50,000& = 0.3Y¥ 57 855
02 =24l 93,070 87,560 5,510
Oz22= & HA 50,170
oclII3 3,400,000 * 12& 40,800
oMot ERZ 280,000& = 12& 3,360
CRERS 250,000& = 12& 3,000
cIHAMNESZ 70,000& = 123 840
S DS ECENP = A= 250,000& * 23 500
CRUELSAER 35,000& = 12& 420
SRS Ee ENPS A= 1,200,000 =+ 13l 1,200
o gt 22| A 50,000& = 13l 50
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Oodzdlg g2FaA 2,965
401 AIEHI L 20 30,000 176,000 A 146,000
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OHLSHEH 24 =3 A 30,000
405 XH&bF S HI 2,000 2,000 0
01 AL ESFH S 2,000 2,000 0
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OHZETHH 29 2357
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02 IZHEHAHE L 253,000 200,000 53,000
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70,0008 = 10& = 12 700




A EAA
HE: AYSH
Sl BACE NHIA B4 CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
LA Z AL 3,730 3,730 0
201 £B-2d| 1,630 1,630 0
01 At 22l 1,630 1,630 0
OZgHHIIE |&=+=+2 100,000& * 123 1,200
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01 MHZ 8l 2,000 2,000 0
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ocd2IIMEE 60,000& = 123 720
cZNR2EESTY 100,000& * 12& 1,200
CARBERAHI (ZAIIE)
100,000& * 12& 1,200
CEEEMNMHE X A2EFFY
100,000& * 103l 1,000
02 2324l 11,120 10,040 1,080
Oz&22= & HA 6,180
oclIIR3 400,000& = 12& 4,800
oMot ER3 50,000& = 123 600
CRUELSAER 35,000& = 12& 420
SHMER=EZ 15,0008 * 2& = 12& 360
O Xt 150,000& = 104 » 12& 1,800
ORUZHAIAYE |X2te2l  100,000& » 12& 1,200
OHIIE=HE 30,000& = 12& 360
O&H}EHAE 500,000& * 13 500
OdJ|etEze| B2 90,000& = 123 1,080
206 M= Hl 2,000 1,000 1,000
01 XH24l 2,000 1,000 1,000
OFSE=PN =PV K=y 500,000& = 43| 2,000
307 glz2+ol & 42,000 42,000 0
01 222724l 42,000 42,000 0
odzss+Y 3,500,000& » 12& 42,000
AMNEEAR S 293 29,000 15,000 14,000
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Al 20,300
101 @124l 15,000 0 15,000
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= 5,993
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= X T ot 100,000& * 1509 15,000
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o AUTHOLO| & 200,000& = 50¥ 123l 120,000
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300,000& * 504 15,000
A2t 23,250 20,550 2,700
301 et d = 23,250 20,550 2,700
01 MEIBEE 2063 23,250 20,550 2,700
OYaR s S M2 AL 10,0008 * 150 1,500
Ogas =80 dAL 15,0003 » 150H * 23] 4,500
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Al 4,800
201 L2l 4,000 4,000
| 2,000
< 400
Al 1,600
01 At 2t 2l 4,000 4,000
OXNHna2F (ZAZL2EH) 4,000
J| 2,000
< 400
Al 1,600
301 L2 A Z 8,000 8,000
| 4,000
< 800
Al 3,200
01 MEI2BE X253 8,000 8,000
OXIHzLZ &Y X 8,000
| 4,000
< 800
Al 3,200
MOtetXt 2ts At 9,000 9,000
< 1,800
Al 7,200
301 gt 4= 9,000 9,000
< 1,800
Al 7,200
01 A3l EE E 56l = 9,000 9,000
OIS T 25 At 9,000
< 1,800
Al 7,200
HASE 2T AY 39,000 39,000
< 7,800
Al 31,200
301 L2 AF 39,000 39,000
< 7,800
Al 31,200
01 A EE E 563 39,000 39,000
OZAdE S XA X (400F) 8,000
< 1,600
Al 6,400
O=tx33 EIIAZE(400Y) 8,000
< 1,600
Al 6,400
OSHFE3 ZI|IAX(400%) 8,000
< 1,600
Al 6,400
OXgd&s ZIIAX(750Y) 15,000
< 3,000
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| Al 12,000
H2H X (EU) MHAI= XA 6,667 5,148 1,519
< 2,000
Al 4,667
301 gtE L= 6,667 5,148 1,519
< 2,000
Al 4,667
01 MI2EZE 6= 6,667 5,148 1,519
OZaX(EL) M2z X 6,667
< 2,000
Al 4,667
JHHOLE R ol =28l K& 304,000 300,000 4,000
< 152,000
Al 152,000
301 et A= 304,000 300,000 4,000
< 152,000
Al 152,000
01 M3IBZE 063 304,000 300,000 4,000
OXHMILEX o 24| X2 (2,400 ) 304,000
= 152,000
Al 152,000
FAUALESAEH 29X 304,130 263,800 40,330
J| 97,925
< 47,001
Al 159,204
307 21201 A 304,130 263,800 40,330
J| 97,925
= 47,001
Al 159,204
05 BIZERI & 3 304,130 263,800 40,330
OEHZEZNEAHEH 24 165,850
J| 82,925
< 16,585
Al 66,340
OXaNed & FUALYSIUANEEE 30,000
J| 15,000
< 3,000
Al 12,000
OEEEZNUEBHHHEZ2E A= 10,080
< 2,016
Al 8,064
OXaned & HdIE=S ALY 79,000
< 15,800
Al 63,200
OMIALE OIS Us SSH At 19,200
< 9,600
Al 9,600
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7 -G RIS AZHXA 70,000 60,000 10,000
J| 35,000
< 7,000
Al 28,000
403 Mt SHHSA=0l& 70,000 60,000 10,000
J| 35,000
< 7,000
Al 28,000
02 I 2S0CHet A== OHa At H 70,000 60,000 10,000
O38lF - 4Xd 2EX 2A=H K& 70,000
J| 35,000
< 7,000
Al 28,000
KNS A S& HLSHANG(SEFALSH) 287,356 102,726 184,630
J| 143,678
< 28,736
Al 114,942
101 @124 dl 244,856 42,000 202,856
J| 122,428
= 24,486
Al 97,942
04 JI2ZtHZ22HEE = 244,856 42,000 202,856
OALMEBAFMALY JI2HH 22X E2(12Y) 244,856
J| 122,428
< 24,486
Al 97,942
201 Let249] 30,500 42,626 A12,126
J| 15,250
< 3,050
Al 12,200
01 At 22l 30,000 42,126 N 12,126
OHZMEMH SEMEIA AIH2YE 30,000
J| 15,000
< 3,000
Al 12,000
03 &Ar2 I 500 500 0
OAYHEAAAS 500
Jl 250
< 50
Al 200
202 O4dl 10,000 13,600 A 3,600
J| 5,000
< 1,000
Al 4,000
01 = LH 4 di 10,000 13,600 A 3,600
OSEHLSE MY o1 n=x(25Y) 10,000
J| 5,000
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01 =2 =4l 2,000 3,000 A 1,000
OALHAASAHHI A BT SHEFE ASFY 2,000
| 1,000
= 200
Al 800
HYRE XF AL 61,939 41,191 20,748
| 30,970
< 6,194
Al 24,775
301 L2 A F 61,939 41,191 20,748
| 30,970
< 6,194
Al 24,775
01 A EE E 563 61,939 41,191 20,748
OM2=3 A=t K& 50,863
| 25,432
< 5,086
Al 20,345
OE3+=F Al=tl XI& 11,076
| 5,538
< 1,108
Al 4,430
e HEelol HEEA 3,400 3,400 0
201 LBt 3,400 3,400 0
01 At 22l 2,440 2,440 0
OZ2R3 dusadg 820 U= 400
Osd & IR0t A2uwa Mz & 2285 2
2 50,000& * 123] 600
OsdEH e ZAt2 120,000 » 43| = 3H 1,440
03 A2 Z Hl 960 960 0
Os¢ & R0 A2 WA FOtAL MBS
1,000& = 483] » 209H 960
A2 Ao ERO0IX 17,500 17,338 162
Xl 14,000
= 700
Al 2,800
307 glz2tol & 17,500 17,338 162
Xl 14,000
= 700
Al 2,800
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05 QIZtR E 2 17,500 17,338 162
O{t2 Ao =201 K& 17,500
Xl 14,000
o= 700
Al 2,800
Ol=0F & MAAMEO0IA0 QS HI XA 30,678 18,218 12,460
J| 15,339
= 3,068
Al 12,271
301 et A= 30,678 18,218 12,460
J| 15,339
= 3,068
Al 12,271
01 Al B & X 26 2 30,678 18,218 12,460
O0l=0t & &AM 0Ol&0OF 92 H| X 30,678
J| 15,339
& 3,068
Al 12,271
THOL &R 22| A 3,000 4,454 N 1,454
Jl 1,500
Al 1,500
301 LBt A= 3,000 4,454 N 1,454
Jl 1,500
Al 1,500
01 Al E & A 452 3,000 4,454 N 1,454
OIS a2 2 3,000
J| 1,500
Al 1,500
RAAHL 22 X AS 28,774 39,400 AN 10,626
J| 14,387
= 2,791
Al 11,596
301 et A= 28,774 39,400 AN 10,626
J| 14,387
= 2,791
Al 11,596
01 Al B & A 462 28,774 39,400 N 10,626
O%Qox (L) 27,912
J| 13,956
& 2,791
Al 11,165
OLQIoXI(EUL) AHEZ2] 862
J| 431
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Al 3,943

301 et A= 9,858 9,858 0
J| 4,929
= 986
Al 3,943

01 Al E & A 462 9,858 9,858 0
ONAS HAIOI A A AN & EHot 22| 9,858
J| 4,929
& 986
Al 3,943

MOfNED| HYXRC 1,701 1,995 A 294
J| 1,361
Al 340

201 et | 275 276 A1
J| 220
Al 55

01 AP 2t 2] H| 275 276 A1
OMIHAMED 2A2dRE =5 275
J| 220
Al 55

403 XX SHHS K20 & 1,426 1,719 A\ 293
J| 1,141
Al 285

02 BI2SOHUS 2SS AFEHI 1,426 1,719 A\ 293
OMOEED] AL CHEALSH 1,426
J| 1,141
Al 285
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Al 20,000
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Al 36,600

A2YH (L 22X 2ALY) 19,474 19,474 0
J| 5,513
< 1,103
Al 12,858

101 @124 dl 19,474 19,474 0
J| 5,513
< 1,103




A EAA
HE: HYRIFH (2AL)
chel: ol gyl CEEEED
SH-HH . B(SH) - HBAMY - B2 ofl &t o SSa HDE2
Al 12,858
03 2INHAZZ2XHE % 19,474 19,474 0
ORINHAZZNEH(HLEEXNEAY) 19,474
J| 5,513
= 1,103
Al 12,858
QIHASAY(EAEHX A S2IX2 A 23,152 12,568 10,584
101 @121l 23,152 12,568 10,584
03 RIAHLEZZXE 23,152 12,568 10,584
O=2cxgzaad 22i B4 23,162
ollza2 1,072,350& * 1H * 123] 12,869
SENI0 =] 1,072,350& = 18 x 400% 4,290
oAAEHSY 160,000 * 1Y x 123 1,920
cHIRIFIIY 64,400& + 198 » 124 773
o QI3 =G 60,000 * 1 * 123 720
o HHFAH| 80,0008 * 194 * 123 960
o ™A F Y| 1,072,350& = 18 x 100% 1,073
o XML I A 18,232,000& * 1 = 3/100 547
o2 (S eAY) 21,500 0 21,500
Dl 10,750
& 2,150
Al 8,600
101 @121l 21,500 0 21,500
Dl 10,750
& 2,150
Al 8,600
03 RIAHAEZZAE 21,500 0 21,500
O32d22lY RIAHS 2k B 21,500
Dl 10,750
= 2,150
Al 8,600
| 2&H| 50,494 50,654 A 160
Jl2343Hl 50,494 50,654 A 160
201 Lt 2| 41,638 41,638 0
01 AtSR 22l ] 41,638 41,638 0
ORBMdE&Y9 JI=2&Hl 250,000 = 128 3,000
OANEREE RU(BAMA S) 200,000 = 12& 2,400
OMBEARID] 228 2
300,000 = 9CH = 23 5,400
OstEAHId 92xsE 30,000& = 504 ~ 128 1,800
Oga+Y 50,000 = 29 x 124 12,400
(@RTE==3] 50,000& * 27H 1,350
O=3&H| 7,000& * 26Y * 72 x 128 15,288
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